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Class -7                                       F.M -80 
Subject – Maths                               Time-3 Hrs. 
 

Section -A (1x20=20) 
 

1. 2.7x10 ³ is equal to- 
(i) 2.7000    (ii) 2.007    (iii)2700    (iv) None of these 

2. Find the product of 9x3 and 2x4 
(i) 11x2   (ii) 18x2  (iii) 18x7  (iv) 18x12 

3. Find the area of the rectangle whose sides are 2a and 3a. 
(i) 6a2   (ii)6a   (iii) 5a2  (iv) 5a  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 



Fill in the blanks. 
  16. Two circles are congruent, if they have ....... 
  17. The reciprocal of( ⅔)³ is ...... 
  18. The HCF of 16 m - 4 m²  is...... 
  19. Two lines are congruent, if they have same....... 
  20. If ∆ABC is congruent to ∆EFD then side BC =side......... 
 

Section -B (2x 6 = 12) 
 

1. How many vertices, edges and faces will a cuboid have? What is the shape of its faces? 
2. Find the mode of the given observations:  0,6,1,5,6,2,0,4,6, 3,4,6,3,1 
3. The height of a parallelogram is 3 dm. If the area of is 240 cm², find the base of the parallelogram. 
4. Find the area of a circle whose radius is 14 cm.  
5. Write the number in the form Kx10^n where 1<k10 and n is an integer 0.000000000926 
6. If A =(2a-3) and B = (5-3a) be two algebraic expressions such that 2A+B=6, then find the value of a. 
 

Section -C  (3x6=18) 
 

1. Construct an equilateral triangle ABC. Find all its line of symmetry. 
2. The base of a triangular field is three times its height. If the cost of cultivating the field at rs.36 per 

hectare is Rs 486, find its base and  height. 
 
 
   

 
 
 
 
 
 
 
 
 
 

Section - D(5x6 =30) 
1. Construct a triangular poster of major 4 cm, 5 cm, 7cm wrote "SAVE ELECTRICITY" on the poster. 

a) What should be done to save electricity. ( write two points). (3+2 =5 marks). 
2. The numerator of a fraction is 6 less than denominator. If 3 is added to the numerator, the fraction 

becomes 2/3.  Find the original fraction. 

 
6. simplify and verify the result for given values  
 (5/4 x² -3/2 xy)( x+y+y²).  x=2, y=2. 


